INGLES NIVEL A2
Elija la respuesta correcta, solo hay una respuestaosible. Elija la opcion (A, B o C) que
considere que es la correcta y escribala en la hajie respuestas.

1.- David smoke?

a) Does

b) Is

c) Do

2.- Liz at a primary school.

a) teach

b) teachs

c) teaches

3.- Sonia ajob.

a) hasn’t

b) doesn’t have

c) don’t have

4.- You don’t need an umbrella. It .
a)isn’t raining

b) doesn’t rain

c) not raining

5.- He didn't to come to France with us.
a) wanted

b) wants

c) want

6.- We to Toronto last August.

a) flown

b) fly

c) flew

7.- It was dark she didn’t see him.
a) but

b) so

c) because

8.- .- She failed all her exams, so he feels a bit
a) depressed

b) depressing
c) deppresed



9.-1 in the park when [ saw an enormous dog.

a) walked
b) was walking
c) were walking

10.- I'm looking my grandchildren next week while my daughter is on holiday.

a) about
b) after
c) for

11.- You haven’t done the washing up .

a) already
b) just
c) yet

12.-T've cleaned the floor, so now it’s wet.

a) already
b) just

c) yet

13.- This is the city in the world.

a) most noisy
b) noisiest
c) noisier

14.- She bought a new dress at the party.

a) for to wear

b) for wear

c) to wear

15.- I'm tired of Netflix. Let’s do something different.
a) to watch

b) watching

c) watch

16.- I like Saturdays because I work.

a) mustn’t

b) don’t have to
c) haven’t to



17.- I think you go to the doctor.

a) would
b) should to
c) should

18.- Where did you ___ your husband?

a) know
b) meet
c) come

19.- How much money does she ?

a) do
b) earn
c) win

20.- My father’s had his car .

a) for two years
b) since two years
c) two years ago
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